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Q.1 In the following figure, triangle represents chef, circle represents cafe, pentagon represents
assistant chef, rectangle represents restaurant and square represents hotel.

What does letter ‘8’ represents?

Ans  # 1. Chef who run restaurantzhotel but.not café with.his assistant chef
#5 2. Chef who run hotel but.not restaurant and cafe with his assistant chef
25 3. Chef who run cafe, hotel but not restaurant with.his assistant chef

25 4. Chef who run restaurant, hotel and café alone

Question ID : 753229621




Q.2 Find the number of circle in the given figure.

Ans X 1.12
X 2.10
o 3.11
X 4.13

Question ID : 753229625

Q.3 Find the wrong term in the letter-cluster series given below:

REMT, AMVB, JUEJ, SDNR, BKWZ
Ans X 1.AMVB
< 2. JUEJ
X 3.BKWZ
& 4.SDNR

Question ID : 753229607

Q.4 Select the related letters from the given alternatives:

MIGRANT : LHFQZMS : : ? : FDKBV
Ans o 1. GELCW
< 2. GSRHE
< 3.DSRGF
2 4. DSGEW

Question ID : 753229609

Q.5 In the following question, select the related number from the given alternatives.
21:3::574:?
Ans X 1.97
o 2.82
2 3.113
X 4.23

Question ID : 753229617




Q.6 Find out the odd word from the given alternatives.

Ans X 1.Seconds
#5 2. Hours
«" 3. Decibels
25 4. Minutes

Question ID : 753229610

Q.7 Select the figure that will replace the question mark (?) in the following figure series.
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Question ID : 753229622




Q.8 Three statements are followed by two conclusions numbered | and Il. You have to consider
these statements to be true, even if they seem to be at variance with commonly known
facts. Decide which of the given conclusions logically follow/s from the given statement.

Statement:

Some buses are cycle
Some cycle are car.
No car is scooter.

Conclusions:
(I) Some car are buses.
(Il) Some cars are cycle.

Ans X 1.0nly | follow
25 2. Both l and Il follow
#< 3. Neither | nor Il follows

" 4.0nly Il follows

Question ID : 753229615

Q.9 From the given alternatives select the one which is the mirror image of given Question
Figure .

Ans X 1.
X 2
3.
X< 4

Question ID : 753229624

Q.10 Aman is 12th from the starting in a row. Raman is 24th from the end and there are 25 boys
between Aman and Raman, then how many boys are there in total?

Ans X 1.60
X 2.63
X 3.62
o 4.6

Question ID : 753229612




Q.11 Three statements are followed by three conclusions numbered I, Il and Ill. You have to
consider these statements to be true, even if they seem to be at variance with commonly
known facts. Decide which of the given conclusions logically follow/s from the given
statement.

Statement:

Some questions are answer.
All answers are wrong.
Some wrong are correct.

Conclusions:

(I) Some wrong are question.
(Il) Some correct are wrong.
(111) Some answer are wrong.

Ans X 1.0nly Il follows
25 2. Only Il follows
o 3. All follows
< 4. 0nly | follow

Question ID : 753229616

Q.12 Find the missing term in the following letter-cluster series given below:

P16HI, 2, B2VW, H8CD, N14JK
Ans X 1.V150P

< 2.V22P0

< 3.V8PO

& 4.V220P

Question ID : 753229608

Q.13 From the given alternatives select the one in which the question figure is hidden/embedded.

Ans X 1.
<2
o 3.
< 4

Question ID : 753229623

Q.14 Two statements are followed by two conclusions numbered | and II. You have to consider
these statements to be true, even if they seem to be at variance with commonly known
facts. Decide which of the given conclusions logically follow/s from the given statement

Statement:
All families are happy.
Some happy are healthy.

Conclusions:
(1) Some healthy are family.
(1) No healthy are family.

Ans X 1.0nly | follow
«# 2. Either | or Il follows
#< 3. 0nly Il follows
< 4. Neither | nor Il follows

Question ID : 753229614




Q.15 In a certain code language, “STOCK” is written as “NPLAJ”. How is “PRICE"” written in that
code language?

Ans o 1 KNFAD
< 2.NPGAC
2< 3. NKDAF
2< 4.0QHBD

Question ID : 753229611 ]

Q.16 In the following question, select the missing number from the given series.
72000, 36000, 12000, 3000, 600, ?
Ans X 1.180
X 2.150
< 3.160
o 4.100

Question ID : 753229619 ]

Q.17 Five friends Aman, Chintu, Rahul, Gautam and Pintu are sitting in a row at different position.
Aman is sitting at the left end while Pintu is sitting second from the right end. Rahul is not
an immediate neighbor of Aman and Gautam. Only one friend sits between Pintu and
Gautam.

Who is sitting in the middle of the row?
Ans X 1.Aman
< 2. Gautam
25 3. Pintu
& 4. Chintu

Question ID : 753229613 ]
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Q.18 From the given alternatives select the one that will complete the question figure.

Ans X 1.
X 2
o 3.
< 4

Question ID : 753229626

Q.19 In the following figure, triangle represents florist, circle represents moneyplant, pentagon
represents lily, rectangle represents roses and square represents sunflower.

What does letter ‘G’ represents?

Ans X 1.Florist who grow sunflower, moneyplant and lily but not rose
" 2. Florist who grow moneyplant, rose and sunflower but not lily
#< 3. Florist who grow sunflower, rose and lily but not moneyplant

25 4. Florist who grow moneyplant, rose and lily but not sunflower

Question ID : 753229620 ]




Q.20 In the question below, a statement is followed by two conclusions. Study the conclusions
and select the correct option as the answer.

Statement
Y=M<N<B=D;M>Z;N<J

Conclusions.
.Z<J
I.D>J

Ans & 1.0nly | follow
#< 2. Both I and Il follow
#< 3. 0nly Il follow
#< 4. Either | or Il follow

Question ID : 753229618

Section : General Awareness

Q.1 When was the Cabinet Mission sent to India?
Ans X 1.June 1946

25 2. May 1946
" 3. March 1946
< 4. April 1946

Question ID : 753229631

Q.2 In case of Emergency in the country, who among the following can suspend the
fundamental rights?

Ans X 1. Supreme Court
< 2. Prime Minister
" 3. President
25 4. High Court

Question ID : 753229644

Q.3 How many banks got nationalized in 1980 ?
Ans X 1.11

o 2.6
X 3.9
X 44

Question ID : 753229642




Q.4 Durand Cup is associated with which sports?

Ans X 1. Table-Tennis
" 2. Football
< 3. Kabaddi

< 4. Cricket

Question ID : 753229641

Q.5 dRvTHugiRF At & qad R R Gad AnlDa sver &l 7 d g g1
Ans X 1. &G

X 2. 78Ry

o 3.3

X 4. T TRy

Question ID : 753229628

Q.6 The Nobel Prizes are not awarded for which of the following?
Ans X 1.Peace

25 2. Physics
o 3. Arts
25 4. Literature

Question ID : 753229640

Q.7 'faE fFafaes =t A=faf@q A 4 forg asa @ d&fda g2
Ans X 1. &G

X 2. g e
25 3. e A

o 4. oI

Question ID : 753229634

Q.8 What does GDP stand for?
Ans X 1.Gross Domestic Price

< 2. Gross Development Product
# 3. Gross Domestic Product

5 4. Gross Development Price

Question ID : 753229643




Q.9 Where is the Somasila Dam is located ?
Ans X 1.Himachal Pradesh

" 2. Andhra Pradesh
25 3. Uttar Pradesh
25 4. Madhya Pradesh

Question ID : 753229646

Q.10 Abdul Hamid is the President of which of the following country?
Ans X 1. Afghanistan

" 2. Bangladesh
5 3.Iraq
2 4. lran

Question ID : 753229635

Q.11 Alfred Nobel is associated with which of the following country?
Ans  * 1.Sweden

< 2. Switzerland
< 3. Denmark
5 4. England

Question ID : 753229633

Q.12 Bahujan Samaj Party was formed in 1984 under the leadership of .
Ans X 1. Mulayam Singh Yadav

#5 2. Syama PrasadMukherjee
¥ 3. Kanshi Ram
< 4. Sunderlal Bahuguna

Question ID : 753229645

Q.13 Khurram was the son of which of the following Mughal Emperor ?
Ans X 1.Humayun

25 2. Aurangzeb
" 3. Jahangir
< 4. Babar

Question ID : 753229632

Q.14 No force acts on a current carrying conductor when it is placed

Ans X 1. parallel to the magnetic field
«# 2. far away from the magnetic field
#5< 3. inside a magnetic field
25 4. perpendicular to the magnetic field

Question ID : 753229639




Q.15 Jelep La pass is located in which state ?
Ans X 1.Jammu & Kashmir

#5 2. Uttarakhand
o« 3. Sikkim
< 4. Himachal Pradesh

Question ID : 753229637

Q.16 ______, Hiuen Tsang, visited India during the reign of Harshavardhana.
Ans  «# 1. Chinese traveller

< 2. Portuguese traveller
< 3. Russian traveller

2 4. Francis traveller

Question ID : 753229630

Q.17 Which of the following is a rabi crop?
Ans X 1.Jowar

" 2. Wheat
#< 3. Cotton

X 4. Chilly

Question ID : 753229638

Q.18 Where is glycogen stored in the human body?
Ans X 1.Kidney

«" 2. Liver
< 3. Gall Bladder
< 4. Stomach

Question ID : 753229636

Q.19 is a dance form owing its origin to Andhra Pradesh.
Ans X 1.Kathakali

< 2. Bharata Natyam
X 3. Kathak
" 4. Kuchipudi

Question ID : 753229629

Q.20

, is situated high aloft a hill called Neelachal Parbat or Kamagiri in the city of
Guwahati.

Ans X 1. Lingaraja Temple
25 2. Lotus Temple
< 3. Konark temple
# 4. Kamakhya Temple

Question ID : 753229627




Section : Arithmetic Ability

Q.1 A group of children has 120 chocolates with them. Eight of each of them eat 7 chocolates.
Each of the remaining eats 1 chocolate less than the average number of chocolates eaten
by all of them. What could be the maximum number of children in the group?

Ans X 1.60
X 2.24
o 3.40
% 4.30

Question ID : 753229651

Q.2 650 grams of sugar solution has 55 percent sugar in it. How much sugar should be added to
this mixture so that sugar becomes 75 percent of total mixture?

Ans X 1.600 grams
< 2.540 grams
< 3.360 grams
" 4. 520 grams

Question ID : 753229657

Q.3 Find the area of a rhombus (in sq cm) whose side is 24 cm and one diagonal is 44 cm?

Ans X 1.
& 2
< 3.
X 4

Question ID : 753229663

Q.4 P and Q are two numbers such that if P increased by 20 percent and Q decreased by 40
percent, their sum remains constant. By what percent P is greater than Q?

Ans X 1.75 percent
< 2. 50 percent
" 3. 100 percent
25 4.200 percent

Question ID : 753229652

Q.5 The following bar graph shows the population of six countries (in millions) in 2010 and
2020.

What is the range of percentage increase in population in all countries from 2010 to 2020?
Ans X 1.18.33 percent — 30 percent

«” 2.16.92 percent - 27.5 percent
25 3. 15 percent - 26.5 percent
< 4.16.66 percent — 27 percent

Question ID : 753229666




Q.6 What value will come in place of question mark (?) in the following question?

Ans X 1.35
& 2.25
X 3.40
X 4.20

Question ID : 753229649

Q.7 Fifty six men can complete a piece of work in 24 days. In how many days can 42 men
complete the same piece of work?

Ans X 1.98 days
< 2.18 days
< 3. 48 days
" 4.32 days

Question ID : 753229662

Q.8 If it is known that 27a3 - 8b3 + ¢3 = -18abc, then:
Ans X 1.2a=b+c

K 2.3b+c=2a
X 3.3a=b+c
o 4.3a+c=2b

Question ID : 753229647

Q.9 144 R 3= WR, 6 Hadl & forshl geur & a_reR g1 gt &1 g1 wfazra &Y o fifsg)
Ans X 1.5ufasa

< 2. 3ufaea

75 3. 2 ufaza

o 4. Adfasa

Question ID : 753229655

Q.10 What is the compound interest on Rs.10,000 in a year at 6 percent per annum if it is
compounded half-yearly?

Ans & 1.Rs.609
< 2.Rs.600
< 3.Rs.703
< 4.Rs.1236

Question ID : 753229658




Q.11 Walking at three-fourth of his usual speed, a man covers a certain distance in two hours
more than the time he takes to cover the distance at his usual speed. The time taken by him
to cover the distance with his usual speed is:

Ans X 1.5hours
«# 2.6 hours
< 3.4.5hours
< 4.5.5hours

Question ID : 753229659

Q.12 The given table shows the average speed (in km/hr) of two cars. For example, the average
speed of car P and car Q is 50 km/hr.

What is the speed of car T?
Ans X 1.45km/hr

o 2. 55 km/hr
#< 3.50 km/hr
2 4.65km/hr

Question ID : 753229665

Q.13 Find the largest number which divides 34, 58 and 94 leaving the same remainder in each
case.

Ans X 1.9
X 2.8
o 3.12
X 4.6

Question ID : 753229650

Q.14 A man sold an article for Rs. 840 at a profit of 20 percent. If the ratio of the marked price to
the cost price of the article is 10 : 7, respectively, then find the discount percentage offered
by the man.

Ans X 1.20 percent
25 2.12 percent
«" 3. 16 percent
< 4.18 percent

Question ID : 753229654

Q.15 If the price of rice per kg is decreased by 15 percent, one can buy 1 kg more for Rs.85. How
much quantity of rice can one buy with Rs.120 with the initial price ?

Ans X 1.10kg
X 2.75kg
«" 3.8kg
X 4.55kg

Question ID : 753229653




Q.16 A lady makes tea for his family members and herself in a cylindrical vessel of radius 10.5
cm and height 10 cm. The volume of tea is 40 percent of the vessel's volume. If each one of
the members of the family drinks 49 cm3 tea, then find the total number of members in the
family.

Ans X 1.6
o 2.9
X 3.7
5 4.8

Question ID : 753229664

Q.17 A and B together can complete a work in 8 days while B and C together can complete it in
12 days. A worked for 4 days, B worked for 6 days and then C finishes the remaining work in
11 days. In what time C alone can complete the work?

Ans X 1.18days
< 2.17 days
« 3.27 days
& 4.11 days

Question ID : 753229661

Q.18 A certain distance is covered in a certain time. If 60 percent more distance is covered in 35
percent less time, then find the ratio of the speed in the two cases.

Ans X 1.15:22
o 2.13:32
7 3.35:16
X 4.12:17

Question ID : 753229660

Q.19 The ratio of male workers to the female worker in factory A is 3 : 4 and that in factory B is 5
: 4. The percentage of the females who got increment in factory A is 70 percent and that in
factory B is 85 percent. If 12 females in factory A did not get the increment and 68 females
in factory B get the increment, then what can be the ratio of total workers in factory A to
total workers in factory B?

Ans X 1.1:2
& 2.7:18
X 3.7:19
K 4.5:9

Question ID : 753229656

Q.20 What value will come in place of question mark (?) in the following question?

Ans X 1.92
& 2.99
% 3.89
X 4.98

Question ID : 753229648




Section : General English

Q.1 Select the most appropriate option to fill in the blanks.

“It is clear that each of these draft is part of a larger plan that against the ethos

and interests of the islands and islanders.

Ans X 1.regulation, are
25 2. regulations, are
«# 3. regulation, is
/< 4.regulations, is

Question ID : 753229673

Q.2 In the following question, out of the four given options, select the one which best expresses
the meaning of the idiom/phrase.

Play it by ear.
Ans X 1. Last try before giving up.
5 2. A fleeting moment.
" 3. Act without preparation.

#< 4. To focus on one thing.

Question ID : 753229679

Q.3 Select the CORRECTLY spelt word.
Ans X 1. Tropikal

25 2. Trapical
«" 3. Tropical
< 4. Tropicol

Question ID : 753229678

_ e == =
Q.4 Select the word which means the same as the group of the words given.

One who wants to destroy the government.
Ans 1. Anarchist

25 2. Criminal
5 3. Vandals
25 4. Amphibian

Question ID : 753229681

Q.5 Select the most appropriate synonym for the given word.

Benevolent
Ans X 1.Savage
«" 2. Gracious
< 3. Cruel
< 4. Barbaric

Question ID : 753229675




Q.6 Select the most appropriate option to fill in the blank.

soon order the army to open fire.

Rumours spread that he
Ans X 1.willbe

< 2. would have

& 3. will
< 4. would be

Question ID : 753229671

Q.7 Select the most appropriate option to fill in the blanks.

Dharmendra is going the knife next month to try to his knee problems.

Ans X 1.under, solving
#< 2. above, solved
< 3. above, solve

" 4. under, solve

Question ID : 753229672

Q.8 One part of the sentence below may contain an error. Identify the part. If there is no error,
choose ‘No error’.

The World Health Organisation's experts says that immunising children against the
coronavirus “is not a high priority” given the extremely limited global supply of vaccines.

Ans X 1.No error.
< 2. given the extremely limited global supply of vaccines.
25 3. children against the coronavirus “is not a high priority”

" 4. The World Health Organisation's experts says that immunising

Question ID : 753229667

Q.9 Select the most appropriate antonym for the given word.

Squander
Ans o 1.Save
< 2. Persecute
25 3. Confine
X 4. Posit

Question ID : 753229676

Q.10 In the following question, out of the four given options, select the one which best expresses
the meaning of the idiom/phrase.

Get the axe.
Ans X 1. Proving the effectiveness of something.

" 2. Lose the job.
#< 3. Examining a group of people and deciding their suitability.

#5< 4. Examining something carefully to not miss out any details.

Question ID : 753229680




Q.11 Select the most appropriate option to substitute the bracketed part in the given sentence. If
there is no need to substitute the bracketed part, select ‘No improvement’.

(As 1 did not think it was proper to) acquaint her yet with what had happened, | made an
excuse.

Ans  «# 1. No Improvement.

25 2. As | did not properly think to

< 3. As | did not think it being proper to
25 4. As | did not think properly to

Question ID : 753229670

Q.12 One part of the sentence below may contain an error. Identify the part. If there is no error,
choose ‘No error’.

My father identified the person who has won a beautiful car in the lottery yesterday.
Ans X 1.inthe lottery yesterday.
25 2. My father identified the person
< 3. No error.

¥ 4. who has won a beautiful car

Question ID : 753229668

Q.13 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute the underlined segment, select ‘No improvement'.

Our meals usually have at least one item make of some kinds of grain.
Ans X 1. makes of kind
¥ 2. made of some kind
25 3. No substitution required

< 4. making of any kinds

Question ID : 753229669

e == = == 0 o= ==
Q.14 Select the INCORRECTLY spelt word.

Ans o 1. Coureir
< 2. Canine
< 3. Bolster
2 4. Compile

Question ID : 753229677




Q.15 In the following question, there are six sentences marked S1, S6, P, Q, R, and S. The
positions of S1 and S6 are fixed. You are required to choose one of the four alternatives
which would be the most logical sequence of the sentence in the passage.

S1. Although fruits can no longer grow once picked,
P. taking in oxygen and

Q. they continue to respire for some time,

R. giving off carbon dioxide,

S. just as human beings do

S6. when they breathe.

Ans X 1.SQPR
X 2. PRSQ
X 3.RPQS
o 4. QPRS

Question ID : 753229674

Comprehension:

Read the following passage and answer the questions below.

Arthur Wellesley, 1st Duke of Wellington, KG, GCB, GCH, PC, FRS, was an Anglo-Irish soldier
and a Tory statesman who was one of the leading military and political figures of 19th-century
Britain, serving twice as the prime minister. He ended the Napoleonic Wars when he defeated
Napoleon at the Battle of Waterloo in 1815.

Wellesley was born in Dublin into the Protestant Ascendancy in Ireland. He was
commissioned as an ensign in the British Army in 1787, serving in Ireland as aide-de-camp to
two successive lords lieutenant of Ireland. He was also elected as a Member of Parliament in
the Irish House of Commons. He was a colonel by 1796 and saw action in the Netherlands
and in India, where he fought in the Fourth Anglo-Mysore War at the Battle of Seringapatam.
He was appointed governor of Seringapatam and Mysore in 1799 and, as a newly appointed
major-general, won a decisive victory over the Maratha Confederacy at the Battle of Assaye in
1803.

Wellesley rose to prominence as a general during the Peninsular campaign of the Napoleonic
Wars and was promoted to the rank of field marshal after leading the allied forces to victory
against the French Empire at the Battle of Vitoria in 1813. Following Napoleon's exile in 1814,
he served as the ambassador to France and was granted a dukedom. During the Hundred
Days in 1815, he commanded the allied army, which, together with a Prussian Army under
Bliicher, defeated Napoleon at Waterloo. Wellington's battle record is exemplary; he ultimately
participated in some 60 battles during his military career.

Wellington is famous for his adaptive defensive style of warfare, resulting in several victories
against numerically superior forces while minimising his losses. He is regarded as one of the
greatest defensive commanders of all time, and many of his tactics and battle plans are still
studied in military academies around the world. After the end of his active military career, he
returned to politics. He was twice British prime minister-as a member of the Tory party from
1828 to 1830 and for a little less than a month in 1834.

SubQuestion No : 16
Q.16 What does the word ‘exemplary’ mean in the given passage?
Ans  # 1. Commendable

#< 2. Dishonorable
#< 3. Lacking

< 4. Disparaging

Question ID : 753229686




Q.17
Ans

Comprehension:
Read the following passage and answer the questions below.

Arthur Wellesley, 1st Duke of Wellington, KG, GCB, GCH, PC, FRS, was an Anglo-Irish soldier
and a Tory statesman who was one of the leading military and political figures of 19th-century
Britain, serving twice as the prime minister. He ended the Napoleonic Wars when he defeated
Napoleon at the Battle of Waterloo in 1815.

Wellesley was born in Dublin into the Protestant Ascendancy in Ireland. He was
commissioned as an ensign in the British Army in 1787, serving in Ireland as aide-de-camp to
two successive lords lieutenant of Ireland. He was also elected as a Member of Parliament in
the Irish House of Commons. He was a colonel by 1796 and saw action in the Netherlands
and in India, where he fought in the Fourth Anglo-Mysore War at the Battle of Seringapatam.
He was appointed governor of Seringapatam and Mysore in 1799 and, as a newly appointed
major-general, won a decisive victory over the Maratha Confederacy at the Battle of Assaye in
1803.

Wellesley rose to prominence as a general during the Peninsular campaign of the Napoleonic
Wars and was promoted to the rank of field marshal after leading the allied forces to victory
against the French Empire at the Battle of Vitoria in 1813. Following Napoleon's exile in 1814,
he served as the ambassador to France and was granted a dukedom. During the Hundred
Days in 1815, he commanded the allied army, which, together with a Prussian Army under
Bliicher, defeated Napoleon at Waterloo. Wellington's battle record is exemplary; he ultimately
participated in some 60 battles during his military career.

Wellington is famous for his adaptive defensive style of warfare, resulting in several victories
against numerically superior forces while minimising his losses. He is regarded as one of the
greatest defensive commanders of all time, and many of his tactics and battle plans are still
studied in military academies around the world. After the end of his active military career, he
returned to politics. He was twice British prime minister as a member of the Tory party from
1828 to 1830 and for a little less than a month in 1834.

SubQuestion No : 17
Which of the following statements is not correct?

25 1. Following Napoleon's exile, Wellesley served as the ambassador to France.
«# 2. Wellesley had never been a colonel.

2% 3. Wellesley rose to prominence as a general during the Peninsular campaign of the
Napoleonic Wars.

2 4. Wellington is famous for his adaptive defensive style of warfare.

Question ID

: 753229685




Q.18 After the end of his active military career, Arthur Wellesley went into

Ans

Comprehension:
Read the following passage and answer the questions below.

Arthur Wellesley, 1st Duke of Wellington, KG, GCB, GCH, PC, FRS, was an Anglo-Irish soldier
and a Tory statesman who was one of the leading military and political figures of 19th-century
Britain, serving twice as the prime minister. He ended the Napoleonic Wars when he defeated
Napoleon at the Battle of Waterloo in 1815.

Wellesley was born in Dublin into the Protestant Ascendancy in Ireland. He was
commissioned as an ensign in the British Army in 1787, serving in Ireland as aide-de-camp to
two successive lords lieutenant of Ireland. He was also elected as a Member of Parliament in
the Irish House of Commons. He was a colonel by 1796 and saw action in the Netherlands
and in India, where he fought in the Fourth Anglo-Mysore War at the Battle of Seringapatam.
He was appointed governor of Seringapatam and Mysore in 1799 and, as a newly appointed
major-general, won a decisive victory over the Maratha Confederacy at the Battle of Assaye in
1803.

Wellesley rose to prominence as a general during the Peninsular campaign of the Napoleonic
Wars and was promoted to the rank of field marshal after leading the allied forces to victory
against the French Empire at the Battle of Vitoria in 1813. Following Napoleon's exile in 1814,
he served as the ambassador to France and was granted a dukedom. During the Hundred
Days in 1815, he commanded the allied army, which, together with a Prussian Army under
Bliicher, defeated Napoleon at Waterloo. Wellington's battle record is exemplary; he ultimately
participated in some 60 battles during his military career.

Wellington is famous for his adaptive defensive style of warfare, resulting in several victories
against numerically superior forces while minimising his losses. He is regarded as one of the
greatest defensive commanders of all time, and many of his tactics and battle plans are still
studied in military academies around the world. After the end of his active military career, he
returned to politics. He was twice British prime minister as a member of the Tory party from
1828 to 1830 and for a little less than a month in 1834.

SubQuestion No : 18

25 1. Adaptive defensive style of warfare
< 2. Training of young soldiers

" 3. Politics

2 4. Poetry

Question ID

: 753229687




Q.19

Ans

Comprehension:
Read the following passage and answer the questions below.

Arthur Wellesley, 1st Duke of Wellington, KG, GCB, GCH, PC, FRS, was an Anglo-Irish soldier
and a Tory statesman who was one of the leading military and political figures of 19th-century
Britain, serving twice as the prime minister. He ended the Napoleonic Wars when he defeated
Napoleon at the Battle of Waterloo in 1815.

Wellesley was born in Dublin into the Protestant Ascendancy in Ireland. He was
commissioned as an ensign in the British Army in 1787, serving in Ireland as aide-de-camp to
two successive lords lieutenant of Ireland. He was also elected as a Member of Parliament in
the Irish House of Commons. He was a colonel by 1796 and saw action in the Netherlands
and in India, where he fought in the Fourth Anglo-Mysore War at the Battle of Seringapatam.
He was appointed governor of Seringapatam and Mysore in 1799 and, as a newly appointed
major-general, won a decisive victory over the Maratha Confederacy at the Battle of Assaye in
1803.

Wellesley rose to prominence as a general during the Peninsular campaign of the Napoleonic
Wars and was promoted to the rank of field marshal after leading the allied forces to victory
against the French Empire at the Battle of Vitoria in 1813. Following Napoleon's exile in 1814,
he served as the ambassador to France and was granted a dukedom. During the Hundred
Days in 1815, he commanded the allied army, which, together with a Prussian Army under
Bliicher, defeated Napoleon at Waterloo. Wellington's battle record is exemplary; he ultimately
participated in some 60 battles during his military career.

Wellington is famous for his adaptive defensive style of warfare, resulting in several victories
against numerically superior forces while minimising his losses. He is regarded as one of the
greatest defensive commanders of all time, and many of his tactics and battle plans are still
studied in military academies around the world. After the end of his active military career, he
returned to politics. He was twice British prime minister as a member of the Tory party from
1828 to 1830 and for a little less than a month in 1834.

SubQuestion No : 19

Arthur Wellesley ended the Napoleonic Wars when he defeated Napoleon. Where was
Napoleon defeated?

«" 1. Waterloo
& 2. Tory

< 3. Dublin

< 4. Wellington

Question ID

: 753229684




Comprehension:
Read the following passage and answer the questions below.

Arthur Wellesley, 1st Duke of Wellington, KG, GCB, GCH, PC, FRS, was an Anglo-Irish soldier
and a Tory statesman who was one of the leading military and political figures of 19th-century
Britain, serving twice as the prime minister. He ended the Napoleonic Wars when he defeated
Napoleon at the Battle of Waterloo in 1815.

Wellesley was born in Dublin into the Protestant Ascendancy in Ireland. He was
commissioned as an ensign in the British Army in 1787, serving in Ireland as aide-de-camp to
two successive lords lieutenant of Ireland. He was also elected as a Member of Parliament in
the Irish House of Commons. He was a colonel by 1796 and saw action in the Netherlands
and in India, where he fought in the Fourth Anglo-Mysore War at the Battle of Seringapatam.
He was appointed governor of Seringapatam and Mysore in 1799 and, as a newly appointed
major-general, won a decisive victory over the Maratha Confederacy at the Battle of Assaye in
1803.

Wellesley rose to prominence as a general during the Peninsular campaign of the Napoleonic
Wars and was promoted to the rank of field marshal after leading the allied forces to victory
against the French Empire at the Battle of Vitoria in 1813. Following Napoleon's exile in 1814,
he served as the ambassador to France and was granted a dukedom. During the Hundred
Days in 1815, he commanded the allied army, which, together with a Prussian Army under
Bliicher, defeated Napoleon at Waterloo. Wellington's battle record is exemplary; he ultimately
participated in some 60 battles during his military career.

Wellington is famous for his adaptive defensive style of warfare, resulting in several victories
against numerically superior forces while minimising his losses. He is regarded as one of the
greatest defensive commanders of all time, and many of his tactics and battle plans are still
studied in military academies around the world. After the end of his active military career, he
returned to politics. He was twice British prime minister as a member of the Tory party from
1828 to 1830 and for a little less than a month in 1834.

SubQuestion No : 20

Q.20 As a newly appointed Major-General, Arthur Wellesley won a decisive victoryat ______.

Ans

25 1. Battle of Seringapatam.
< 2. Many places in England.
" 3. Battle of Assaye.

2 4. Battle of Waterloo.

Question ID : 753229683

Section : General Hindi

Q.1
Ans

fA=fafEa & 9 w9-a1 2= Tt @i o1 3gEor 82
X 1. afsg
X 2. sdisT
5 3.3

o 4.3ERA

Question ID : 753229688

Q.2
Ans

Frafafaa 9 | "srsfiaror o1 et e -1 8?
o 1. ST
X 2. sEfema
&5 3. TR
& 4. 3R

Question ID : 753229694




Q.3 f=fafaa d @ Rar war area fora et &1 3eTgRuT 82

Ans

dretHgd o1 fAmfor et e g1 ami

o 1. 10T SR

X 2. 3q-3qe STt
X 3. 5B TF
25 4. 3T YdenTe

Question ID : 753229696

Q4

Ans

feq 7q areriar & fOQ T 2reg 1 TU= HifSg-
eI~ aydl hl ek § ST

o 1. gewwor
25 2. e
X 3. didleR
X 4.@fRa

Question ID : 753229695

Q.5

Ans

frafafaa d @ ara & vaR &1 994 fifSig-
A% St 7 oru+ 321 & fog wwea gE-giaemg = &)

" 1. BJar=
X 2. foraraTe
X 3. Har=a

25 4. rar

Question ID : 753229699

Q.6
Ans

Frafafaa 9 @ gerext "wie A @1 g & o o1 82

2< 1. fonlt oft a1 wR fasarg ez
X 2. 1fden arraes gl

o 3. T 3@ WU §@ gl

X 4. STafeR U= UTW BT

Question ID : 753229700

Q.7
Ans

frafafae 9 & "seugy” o1 vafaarh o wb-a1 82

Kol

o« 2. g@m
X 3. 9eR
<4 TRy

Question ID : 753229692




Q.8 ffafaa d & sl "sit T # givn ag ureht & s o1 a7 o g7
Ans o 1.5t A A & 98 Uhe BT &1

X 2. aToRreft we ifehd @At 81

2< 3. S ot AT € 9@ GERI h e Sl THET ehal g

X 4. B AN AT T&-TGehs ST

Question ID : 753229701

Q.9 fA=fafEa d @ acw =g &1 99+ fifSg-
Ans X 1=t

X 2. fRa
o 3. Tfeawr
X 4. A

Question ID : 753229689

Q.10 "ATesh a1 Gehichl A fRE2r & g A 7 @ Si9-@ R=g a1 b faean simar 82

Ans X 1. 3ruferm R
o 2 FroEm AT
X 3. ugfRm R
X 4. goifeRm R

Question ID : 753229702

Q.11 = g 71 arer # for Rers &Y frvif<h o1 v fora e @2
wegwHit ferst Rig e A arg-difzai & fag smr deamqi
Ans X 1. 3MUGH BR%
o 2. IUEH BRE
#< 3. Ik PRb
X 4 T FRE

Question ID : 753229697

Q.12 fF=afafE@a d & i9-471 21 WTadaras |1 &1 ISTE0T 8?2
Ans o 1. SarET

Ko2.aa

K 3R

X 4.

Question ID : 753229691




Q.13 F=fafEa 4 9 wi9-a1 are gt H g T sigpg T8 82
Ans X 1.3 gaR gl 9 o)

o 2. TETYIRA STRE & dIeh Ieiar <&

2< 3. 31 I oft = o1 B wie BT B

25 4. 95 TR TS § U8 TR 1Y 3§l B

Question ID : 753229698

Q.14 fA=fafE@a d & w19-971 21es U= &1 Ut S ST 14T 82
Ans X 1.1

< 2.3uga

o 3. Reaerd

< 4 st

Question ID : 753229690

Q.15 FAAfafEa & @ aigg ad-i amt 1 o1 994 fifSg-
Ans o 1. Usordferd

X 2.7y
5 3. urdan
X 4 e

Question ID : 753229693

Comprehension:

frfafea e @1 earyden sreras ek uAl & IR difoe-

2afh THTT 6 3eTS & ofR et aafth ot ad, R ok sic dr srgeifa e aiva et €1 fvem ot oref &
SHHT HRa= <l Tl g9 St & GATST 7 31dT: 18T 1 He Aid & FHIST| 59 TR AT 3R ST 1 IRER
gfse dee &1 e 7 freror dwrsi o wwrst 7 Ay Ayl R § Fifc g8l § et ANTRS 6
et 1 SHTST THIST & HewU eht URShHd e o cich (18T ch F%1 &l (21N ot T ST &1 81 a8
JTILIRAT ST Y 7S & R gHRY HIIATSH ol W&ol gl 28T & | TreTfoieh sfia & St srfderar fi-fem
Tl ST 3@ & I e ShIRUT AfcTeh fRAGT T ST &1 3161 7 Hifcleh I ehl YA Ie2d a1 faT §
&9 Wfaerardl T sifafifaemardt gid oI @ & iR T8t ROt & foh fatheldid g8R AT ot 3Ta%g et ol
51 &1 31T 18T AT A& chael Q&Aehid T4 A1 & Sit g&deh] § GefdT ST 36T & | IE Liféreh Ufshat shaet
Aefiefeneor o1 gafa A1 a9 ok FaETRe TafRAeT o Wy AR gt 9 forg smafara § 3 Afae geat
& freT < ST ST TETS H STORTY Ugfd fFRaR agdt 1M1 afe 8w Stte § S SA1fUd sher 9rgd
g at ofifores eifar & Tmer-arer smeanfades wifd ot ofY STPRees ST a1 SimaRaes g1 31Tt farenffat &
T SRR, RIS Ud gl & U ShRUT AT Rieh Ud Sireatfcieh SIIe o 31Td &1
31qqd foenffal # uRY § g IRe-FAT0T SiR 1k Sl HIEHT ST &he o oIy S 3 HenRl T
fmfor sveat & fore Afaes e am Sify smasaes g1 Afdes e & famr @ garst 6 e o1 g1

SubQuestion No : 16

Q.16 IUYeR Terial & AFHR, 3111 gH e Iafa ) germrs 32T o1 e §, g wifdemend) @
gl R & iR udt R g fF fAread garR anf & srasg sl -1 W 21

Ans X 1. TeraE
o 2. Jfaeifaeard
X 3. werdfare ud Hifderarare
X 4. ~fifaedrarg

Question ID : 753229708




Comprehension:

ffaifEaa merisr s eFYden $Tede e URAT S Jea IfoTg-

f<h TATST h SohTs ¢ SR 18T <k ot I, R, SR ST el STgfdT vt Al STt &1 fvem ahr aref @
ST SRa= <l el 59 St & TSt 7 S1T: 18T o6 e i & 9TST| 59 TR R SR TSt 1 tRER
gfse dete &1 e g freror dwrsd o wareT 7 Ay Ayl wH § Faifes agl @ et AnTRe 6 R
feReTd €1 STTST THTST S Hel&U hl URShd Shel o A RI&T & U%T o Ay It a1 I3 v &1 38
JTILIRAT ST Y 7S B R gARY AT oAl Tl gl 28T & | TrTfoieh Sfia & St srafderar -
Tt ST 38t & e Tt hIRuT Afyen fR1&T et sreqTa &1 31Tt gFe Hfifdes Iafa ht wepaT Igeg I R &
&9 ifdepardl T srfaaffaerard) gia o7 <@ € ofiR a8t RuT & foh fatherard gaR At &t sraveg vt S
51 &1 31T V8T AT A& chael Y&Aehid 19 A1 & Sif g&deh] § GefdT ST 36T & | I§ Lféreh Ufshar shaet
Aefifeur 1 vafa 1 97 ofk SragTRes Tefer w1 w@wy fenfad gt 3ue fag smifera & fs Afae gei
& fA&T < Y ST THTS H STORTY Ui AR agdt M1 afe g Stte & arier Safud s 9rgd
& at ofifores oeifar & Tmer-arer smennfdes wifd ot off STPRees SMTY a1 3imaRaeh g1 31Tt farenfefat &
T SRR, R Ud gdtcTg & U SRl A1 Ud Sireanfich S & SiTd &1
3rqqd foenffa & uRY § g IRe-fAA0T SiR 1k el H1EHT S st o folg S 36 Ul a1
fmfor a3 forg Afcres e 2 orf smmasaes &1 Afaen f21e1 & T Ty gATST 6 ehetT /e g1

SubQuestion No : 17
Q.17 Iuda Terian & T J FiF-91 Hu ¥l T8 82
Ans X 1. 31T e o1 HEd hael GEAch i T AT & St qRdehl | geldT ST 38T &
25 2. arTfores Sitad # STt stfaehdr f&a1-fee agdt 511 6t § ITehT gt SRt Afces fre o svma g1
o 3. e fAer & oA off e I\TT Y SheaT 9 81
X 4. e 3R gt 1 RER afs ddy g

Question ID : 753229706

Comprehension:

T i o eaTgden Sreaa s T o Ik AIfSIY-

2af<h T Y 3eTS & SR fer aafth ot O, R oiR siic i srgeafcr e aiva el 81 fRvem o oref &
ST T Y et | g7 Sfid & TSt | ord: 18T a1 gt Fid & THTST| 39 YR 18T SR STl IRER
g dey g1 e 7 freror dwmsi o garsT 7 A Agayul R ¢ il gal § A ANTRS 6o
fenetd €1 STTST THTST & Jeiey ol IRSHd & 5g e 18T & st &7 fadiy o« fean Se v 81 38
STTAIRAT STIHE <hl T8 & foh GARY AT ST e 81 38T & | |THIfoIeh Stta # St SfdehdT e i-fie
Tt ST TET & IThT HeT hROT Ak AT AT 31779 &1 317sT g0 fifes IATY ot Yopar Iga a1 oz &
&9 ifaerardl T sifasfifaemard) gid i1 %8 & iR T8t ot & foh fatherard gaR ATt &t sravg et o
TEY &1 31T fR1&TT T Fga chael YEachid 114 H13 & ST Uiehi § Gera Si 381 81 g féier ufehan dhaer
wfiteneor 1 wafa AT 97 SR AaETRe TEfRIeT o T A &t 56 g sriféid & o e geat
< e & ST STy TS A ST Ugfa AR et et afe g7 Sitae & S wifid s ared
g at ofifdes o & Tmer-arer ameatfaen Wit ot off STReeh SMTY 3T 3MTaTeh g1 31T faenfefat &
T SRR, R Ud EAITE o U@ ShRUT AT Rieh Ud STeATfcieh SR hl 3119 &1
sraua faenffa & uRy § & aRe-fmfor efik e &t wreHT S @t & forg S g TRl a1
o sheat & forg Afaes fAem 241 S1fay smraraes &1 Afdes et & AT Tawr gaTst Y dhetT e g1

SubQuestion No : 18
Q.18 Iufer TTerier & IR, fAer o1 sif R o/ 87
Ans o 1. ST EEm T e

25 2. 3raflen T T R ATHIRT UTLd ST
2< 3. fRver o Ares G 18707 HRATSHT T A1 ST AT
5 4. had rafdes AT HAMTI

Question ID : 753229705




Comprehension:

ffaifEaa merisr s eFYden $Tede e URAT S Jea IfoTg-

f<h TATST h SohTs ¢ SR 18T <k ot I, R, SR ST el STgfdT vt Al STt &1 fvem ahr aref @
ST SRa= <l el 59 St & TSt 7 S1T: 18T o6 e i & 9TST| 59 TR R SR TSt 1 tRER
gfse dete &1 e g freror dwrsd o wareT 7 Ay Ayl wH § Faifes agl @ et AnTRe 6 R
feReTd €1 STTST THTST S Hel&U hl URShd Shel o A RI&T & U%T o Ay It a1 I3 v &1 38
JTILIRAT ST Y 7S B R gARY AT oAl Tl gl 28T & | TrTfoieh Sfia & St srafderar -
Tt ST 38t & e Tt hIRuT Afyen fR1&T et sreqTa &1 31Tt gFe Hfifdes Iafa ht wepaT Igeg I R &
&9 ifdepardl T srfaaffaerard) gia o7 <@ € ofiR a8t RuT & foh fatherard gaR At &t sraveg vt S
51 &1 31T V8T AT A& chael Y&Aehid 19 A1 & Sif g&deh] § GefdT ST 36T & | I§ Lféreh Ufshar shaet
Aefifieur a1 vafa 1 97 ofk sragTRe Tafer w1 w@wu fnfad gt 3ud fag smifera & fs Afde gei
& fA&T < Y ST THTS H STORTY Ui AR agdt M1 afe g Stte & arier Safud s 9rgd
& at ofifores oeifar & Tmer-arer smennfdes wifd ot off STPRees SMTY a1 3imaRaeh g1 31Tt farenfefat &
T SRR, R Ud gdtcTg & U SRl A1 Ud Sireanfich S & SiTd &1
3rgq et # aRy & g TRe-Fmfor oik Aerifth & et SINd & & foig S g IhRI r
fmfor a3 forg Afcres e 2 orf smmasaes &1 Afaen f21e1 & T Ty gATST 6 ehetT /e g1

SubQuestion No : 19
Q.19 Swfer erizr & 3R 2fider P § @ wi-ar &2
Ans X 1. 9T Y ST W |

75 2. guTST & gaTd $hrs: <afthl
o 3. ek e Fi IuAifira
< A, TS T SRIHSAT A ST BT

Question ID : 753229704

Comprehension:

T i o eaTgden Sreaa s T o Ik AIfSIY-

2af<h Tt Y 3eTS § SR fer eafth ot O, R ofR siic i srgeafcr ene aiva sl 81 fRvem o oref &
ST T Y et | g7 Sfid & TSt | ord: 18T a1 gt Fid & THTST| 39 YR 18T SR STl IRER
g dey g1 e 7 freror dwmsi o garsT 7 A Agayul R ¢ il gal § A ANTRS 6o
fenetd €1 STTST THTST & Jeiey ol IRSHd & 5g e 18T & st &7 fadiy o« fean Se v 81 38
STTAIRAT STIHE <hl T8 & foh GARY AI-ITST ST G 81 38T & | |THIoIeh Stia # St SfdehdT -l
Tt ST TET & IThT HeT hROT Ak AT AT 31779 &1 317sT g0 fifes IATY ot Yopar Iga a1 oz &
&9 ifaerardl T sifasfifaemard) gid i1 %8 & iR T8t ot & foh fatherard gaR ATt &t sravg et o
TEY &1 31T fR1&TT T Fga chael YEachid 114 H13 & ST Uiehi § Gera Si 381 81 g féier ufehan dhaer
wfiteneor 1 wafa AT 97 SR AaETRe TEfRIeT o T A &t 56 g sriféid & o e geat
< e & ST STy TS A ST Ugfa AR et et afe g7 Sitae & S wifid s ared
g at ofifdes o & Tmer-arer ameatfaen Wit ot off STReeh SMTY 3T 3MTaTeh g1 31T faenfefat &
T SRR, R Ud EAITE o U@ ShRUT AT Rieh Ud STeATfcieh SR hl 3119 &1
sraua faenffa & uRy § & aRe-fmfor efik e &t wreHT S @t & forg S g TRl a1
o sheat & forg Afaes fAem 241 S1fay smraraes &1 Afdes et & AT Tawr gaTst Y dhetT e g1

SubQuestion No : 20
Q.20 IR TTeTiel & SIHR, 31T faenf¥al # aared srgeme=gar, AR gd galeng & Wia HRoT
o=k g gl
Ans o 1. SeATIHE SIRITE ThT ST |
2< 2. uriifaeTien ST &t wRa|
2< 3. SmeaTaien STITE i TgRa|

< 4. aTfETTReh SIITE T 31T

[ Question ID : 753229707




Q.1 Which of the following is/are type/s of forces in nature?

1. Gravitational

2. Electromagnetic
3. Nuclear

4. Weak

Choose the correct one.
Ans X 1.1,3and 4 only
25 2.1,2and 3 only
25 3.1and2only
o 4.1,2,3and 4 only

Question ID : 753229713

Q.2 If a projectile is fired with a speed u of an angle © with the horizontal, then what will be its
speed (v) when its direction of motion makes an angle a with the horizontal?

Ans X 1.v=ucosasec®O
o 2.v=ucos©Oseca
X 3.v=uZcosasecO

X 4.vZ=ucos@seca

Question ID : 753229714

Q.3 If a particle travels a distance ‘s’ in time t; to t,, the average speed V,, is
Ans X 1.

X 2

o 3

X 4

Question ID : 753229710

Q.4 is/are called fluid/s.
1. Liquid

2. Gas
Ans X 1.2only

" 2.Both 1and 2

25 3.1 only
25 4. Neither 1 nor 2

Question ID : 753229720

Q.5 A man walks with a speed of 8km/hr for 2 km and 9 km/hr for 3 km. What is the average
speed for 5 km?

Ans X 1.9.75km/hr
< 2.8 km/hr
X 3.6.25km/hr
o 4.8.75km/hr

Question ID : 753229717




Q.6 A typical cell develops a voltage of 0.5-1 V and can produce about of electricity when

exposed to the Sun.
Ans # 1.07W

X 2.3W
X 3.5W
X 4.03W

Question ID : 753229728

Q.7 Which of the following statements is/are true?
1. If a body changes its position with time it is said to be moving
2. Nothing is in absolute rest or in absolute motion

Ans X 1.2only
25 2.1 only
< 3. Neither 1 nor 2
# 4.Both 1and 2

Question ID : 753229709

Q.8 Which one of the following is not associated with a good source of energy?

Ans X 1.Easy to store and transport
" 2. It gives minimum amount of work per unit volume or mass.
#< 3. Moderate price rate
5 4. Simply accessible

Question ID : 753229726

Q.9 Up to what percentage of methane is contained by biogas?
Ans X 1.95 percent

25 2.85 percent
«# 3. 75 percent
< 4. 65 percent

Question ID : 753229727

Q.10 According to sign convention, the focal length of a convex mirror is
A. Positive
B. Negative

Ans o 1.0nly A
25 2.0nlyB
< 3. Either AorB
< 4.Both Aand B

Question ID : 753229725




Q.11 Which of the following equation is also a special case of the work-energy (WE) theorem?
(where a is acceleration, u and v are the initial and final speeds and s the distance
traversed.)

Ans X 1.
X 2
< 3.
o 4

Question ID : 753229718

Q.12 In case of concave mirror if we place the object between centre of curvature and focus of
the mirror then what will be the position of the image?

Ans X 1. Between the focus and centre of curvature
< 2. At the centre of curvature
< 3. At the focus

«# 4. Beyond centre of curvature

Question ID : 753229723

Q.13 Nucleus contains about
Ans X 1.92

< 2.88.9

X 3.75
o 4.99.98

percent of the mass of the atom.

Question ID : 753229715

Q.14 A ball is thrown up at a speed of 2m/s. If g = 10m/s2, then find the maximum height the ball
will reach?

Ans X 1.0.80m
& 2.020m
% 3.010m
5 4.040m

Question ID : 753229711

Q.15 Which of the following statement is correct about action and reaction?
Ans X 1.Both Have same direction

#5 2. Both may or may not have equal magnitude
#< 3. Both act on the same object

4" 4. Both act along the line joining the bodies

Question ID : 753229716




Q.16 Projectile motion is an example of motion in a plane with acceleration.

Ans X 1.Decreasing
5 2. Increasing
25 3. Zero
«# 4. Constant

Question ID : 753229712

Q.17 What is the position of an object in front of a concave mirror so that the magnification
produced by the mirror is 1?

Ans X 1.Atthe focus
" 2. At the centre of curvature
25 3. At pole

#5 4. Beyond centre of curvature

Question ID : 753229722

Q.18 Where does the centre of curvature of a concave mirror lie?
Ans & 1.In front of the mirror

#5< 2. 0n the mirror
< 3. In the back of mirror

< 4. 0n the aperture of the mirror

Question ID : 753229721

Q.19 In an ideal spring, the spring force Fg is proportional to x where x is the displacement of the

block from the equilibrium position. The displacement could be either positive or negative.
This force law for the spring is called Hooke’s law and is mathematically stated as:

Ans o 1.Fg=-kx
< 2. Fg =kx
K 3 Fg=k+x
< 4. Fg=k/x

Question ID : 753229719

Q.20 What is the absolute refractive index of kerosene?
Ans X 1.1.31

o 2.1.44

< 3.1.46

X 4.1.47

Question ID : 753229724

Section : Discipline2




Ans

Q.1 What is the atomic radius of hydrogen atom?

< 1.57 pm
& 2.37pm
25 3.97 pm
25 4.102 pm

Question ID : 753229747

Ans

Q.2 What is the type of the following reaction?

CuO + H, = Cu + H,0
«" 1. Redox
25 2. Reduction
< 3. Oxidation
< 4. Displacement

Question ID : 753229738

Q.3 When preparing systematic diagram of hydro power plant which of the following is not a

component of it?
1. Generator

2. Turbine
Ans X 1.1only
25 2.Both 1and 2
2 3.2 only
" 4. Neither 1 nor 2
Question ID : 753229734
Q.4 Which statement is true for a solenoid?
Ans X 1. A solenoid does not behave like a magnet.
«" 2. A strong magnetic field'is produced‘inside’a solenoid.
25 3. A solenoid is made'up of magnet.
25 4. Inside a solenoid electric field is zero.
Question ID : 753229732
Q.5 fF=fafaa & @ gz gen g1 fFd et strar 82
Ans o 1. BRI gegiaTss

X 2. HfRrm ifaags
< 3. iR FARIES
X 4. HfRH wEHe

Question ID : 753229736




Q.6 Why did Rutherford select a gold foil for his experiment of finding the model of an atom?
Ans X 1.Asitis ductile

5 2. As itis a noble metal
25 3. As itis lustrous

o 4. As itis thin

Question ID : 753229748

Q.7 Which one of the following is the general formula of Alkenes?
Ans X 1.

x2
3
x 4.

Question ID : 753229743

Q.8 f=fafae d & o= swgw sifawrss o1 IaEror 8?
Ans 1. ik sifaarss

X 2. oifegw sifaarss

X 3. 7Rffke cifeTiss

X 4. TR ez

Question ID : 753229740

Q.9 What are the properties of the image formed by the plane mirror?
A. Virtual and inverted
B. Virtual and erect

Ans X 1.AandB both are false
25 2. Aistrue
25 3. Both are true
o 4.Bistrue

Question ID : 753229731

Q.10 is one of the chemical used to produce Ocean Thermal Energy.
Ans X 1.HCI

S 2.Ny

& 3.NHg

< 4. Hy

Question ID : 753229729




Q.11 A galvanometer behaves like an ammeter when shunt resistance of very small value is
addedin______.

A. Parallel

B. Series

Ans o 1.0nly A
#5 2. Either Aor B
#< 3.Both AandB

5 4.0nlyB

Question ID : 753229733

Q.12 A man picks up a bag of weight of 15 kg from the ground and puts it on his head 1.5 m
above the ground. What is the work done by him on the bag?

Ans o 1.225J
2 2.200J
2 3.125J
X 4.1754J

Question ID : 753229735

Q.13 is the boiling point of CaCls.
Ans X 1.1708K

< 2.1600 K

< 3.1738K

o 4.1900K

Question ID : 753229741

Q.14 In vinegar, what is the percentage of acetic acid dissolved in water?
Ans  # 1.5- 8 percent

#< 2.8 - 10 percent
25 3.7 - 9 percent
25 4.3 - 5 percent

Question ID : 753229745

Q.15 Which of the following is not used as food preservatives?
1. Sodium Benzoate
2. Salts of sorbic acid

Ans X 1.7 only
25 2.Both 1and 2

25 3.2 only
«# 4. Neither 1 nor 2

Question ID : 753229742




Q.16 What is the relation between Volt (V) and Joule (J)?
Ans X 1.

o 2.

X 3.

< 4

Question ID : 753229730

Q.17 Which one of the following is the best conductor of heat?
Ans X 1. Carbon

" 2. Copper

25 3.1ron
2 4.Gold

Question ID : 753229739

Q.18 What is the colour of the white silver chloride when it is placed in direct sunlight?
Ans X 1.Brown

< 2. Green
#< 3.Black
«" 4. Grey

Question ID : 753229737

Q.19 What is the colour of the flame when alkenes are burnt?
Ans X 1.Grey

25 2.Blue
2 3. White
o 4. Yellow

Question ID : 753229744

Q.20 What number of elements existed in nature was assumed by Newlands?
Ans X 1.53

 2.56
X 3.54
% 4.55

Question ID : 753229746

Section : Discipline3




Q.1 What is the number of valence electron present in Al* ion?
Ans X 1.0

X 2.3
X 3.1
o 4.2

Question ID : 753229750

Q.2 Calcium sulphate hemihydrate is another name of:
Ans X 1. Washing Soda

#< 2. Baking Soda
#< 3. Bleaching Soda
" 4. Plaster of Paris

Question ID : 753229762

Q.3 Calculate the number of moles present in 120 g of Mg. (AMU of Mg is 24)
Ans 1.5
X 2.2
X 3.3
X 4.4

Question ID : 753229755

Q.4 Which of the following is present at the growing tips of stems and roots and increases the
length of the stem and the root?

Ans  #* 1. Apical meristem
< 2. Intercalary meristem
#5 3. Cambium
#< 4. Vacuoles

Question ID : 753229768

Q.5 water molecules are present in one formula unit of Washing Soda.
Ans o 1.10

K 2.5

5 3.2

K 4.6

Question ID : 753229760




Q.6 Washing soda is used in:
1. Removing permanent hardness of water

2. Glass, Soap and paper industries
Ans o 1.Both1and2

< 2.0nly 2
#< 3.Either 1 or2
5 4.0nly 1

Question ID : 753229761

Q.7 Nitrogen gas makes up of our atmosphere.

Ans  # 1.75-80 percent

#5 2.85-90 percent
25 3.90-95 percent
< 4.80-85 percent

Question ID : 753229767

Q.8 What is the original colour of Litmus solution?

Ans X 1.Red
25 2. Pink
" 3. Purple
& 4.Blue
Question ID : 753229757
Q.9 is the change of solid state directly to gaseous state without going through liquid
state.

Ans X 1.Evaporation
«" 2. Sublimation
25 3. Deposition
< 4. Boiling

Question ID : 753229753

Q.10 Synthetic detergents are classified into how many categories?
Ans 1.3

5 2.2

X< 3.4

X 45

Question ID : 753229763




Q.11 How many electrons are present in the outermost shell of Silicon?
Ans X 1.3

2.4
X 3.2
X 41

Question ID : 753229749

Q.12 Which of the following fungi is responsible for ringworm which is one of the most common
infectious disease in humans?

Ans X 1.Fusarium
< 2. Aspergillus
£ 3. Candida
" 4. Tricophyton

Question ID : 753229766

Q.13 Which one of the following state consists a super energetic and super excited particle?

A. Plasma State
B. Bose-Einstein Condensate

Ans ¥ 1.0nly A
25 2.0nlyB
< 3.BothAandB
< 4. Neither A nor B

Question ID : 753229752

Q.14 Which gas is formed when metal hydrogen carbonates react with acids?
Ans X 1.H,

X 2.co
X 3.0y
& 4.C0,

Question ID : 753229758

Q.15 What is the mass of 0.5 mole of calcium atom? (AMU of calcium is 40)
Ans X 1.405¢g

& 2.20g
% 3.39.5¢g
X429

Question ID : 753229756




Q.16 Which of the following is a property of an isobar?
Ans X 1. They have same atomic number

£ 2. They have same neutron number
25 3. They have same chemical property

¥ 4. They have same mass number

Question ID : 753229751

Q.17 Which one of the following is dispersing medium for Emulsion?
A. Gas

B. Liquid

C. Solid

Ans X 1.BandConly
25 2. Aand Conly
o 3.0nly B
< 4.0nly A

Question ID : 753229754

Q.18 The primary and secondary immune responses are carried out with the help of two special
types of lymphocytes present in our blood which are:

Ans  # 1. B-lymphocytes and T-lymphocytes
25 2. Alymphocytes and F-lymphocytes
#5 3. B-lymphocytes and P-lymphocytes
25 4. M-lymphocytes and I-lymphocytes

Question ID : 753229765

Q.19 Single-celled organisms can produce two equal daughter-cells by -
Ans X 1.Budding

" 2. Binary fission
25 3. Encystation
2 4. Sporulation

Question ID : 753229764

Q.20 What is the pH of the mouth when tooth decay starts?
Ans  # 1. Lowerthan 5.5

#< 2. Lower than 4.8
25 3. Lower than 5
25 4. Lower than 6

Question ID : 753229759

Section : Discipline4




Q.1 For a young adult with normal vision, the near point is about
Ans  # 1.25cm

% 2.35m
25 3.40cm
25 4.40 mm

Question ID : 753229773

Q.2 When the terminal phosphate linkage in ATP is broken using water, the energy released is
equivalent to

Ans X 1.1.8 kJ/mol
X 2.89 kJ/mol
" 3.30.5 kd/mol

25 4.111 kd/mol

Question ID : 753229777

Q.3 Which of the following organisms do not have a defined nucleus or organelles, nor do any of
them show multi-cellular body designs?

Ans X 1.Protista
" 2. Monera
25 3. Animalia
& 4. Fungi

Question ID : 753229770

Q.4 Which of the following organisms engulfs food to form food vacuoles?
Ans X 1.Plasmodium merozoite

#< 2. Paramecium
#< 3. Plasmodium sporozoite

« 4. Amoeba

Question ID : 753229776

Q.5 Which of the following hormones regulate carbohydrate, protein and fat metabolism in the
body so as to provide the best balance for growth?

Ans X 1. Endorphin
< 2. Oxytocin
" 3. Thyroxin
#< 4. Epinephrine

Question ID : 753229778




Q.6 The diameter of the pupil in a human eye is controlled by the
Ans X 1.Optic nerve

o 2.1ris
#5< 3. Retina

< 4.Cornea

Question ID : 753229772

Q.7 Which of the following approach is based on the idea that organisms which are more
distantly related will accumulate a greater number of differences in their DNA?

Ans X 1.Isotopic phylogeny
" 2. Molecular phylogeny
< 3. Genome sequencing phylogeny
75 4. Atomic phylogeny

Question ID : 753229781

Q.8 Which plants were introduced into India for their lovely flowers, but later they caused havoc
by their excessive growth by causing blocks in our waterways?

Ans X 1. Neochetina eichhorniae
< 2. Pistia Stratiotes
«# 3. Eichhornia crassipes

2 4. Pontederia Azurea

Question ID : 753229784

Q.9 Which of the following movement originated from an incident in a remote village called Reni
in Garhwal, high-up in the Himalayas during the early 1970s?

Ans X 1. The Sal Raksha Andolan
¥ 2. The Chipko Andolan
#< 3. Narmada Bachao Andolan
< 4. The Namami Gange Andolan

Question ID : 753229783

Q.10 A person with
Ans X 1. Hypopetropia

can see distant objects clearly but cannot see nearby objects distinctly.

< 2. Presbyopia

25 3. Myopia
" 4. Hypermetropia

Question ID : 753229775




Q.11 f=faf@a d @ &9 a1 %Y= e a g2
Ans o 1. FITa SR Ugiform S Sfiarsd o & agd a1t 773 3 AT8gier SR Teths gt 8|

X 2. Sitansd e & g8 @ gar A fReifad ol &t A1 9 STt 81
25 3. STor-arsy et fmtor aea i nfafafdat & ganfaa gt gemar &1
X 4. 38T &3 F gar A e &7 vd va & seet St B

Question ID : 753229786

Q.12 Which of the following animals are also bilaterally symmetrical and triploblastic, but in
addition they have a true body cavity?

Ans X 1.Echinodermata
" 2. Annelida

#5 3. Platyhelminthes
< 4. Coelenterata

Question ID : 753229771

Q.13 Which of the following organisms can fix atmospheric nitrogen?

Ans X 1.Afew viruses
25 2. Afew fungi

" 3. Afew bacteria
& 4. Afew algae

Question ID : 753229787

Q.14 The change in the of the eye lens can thus change its focal length.

Ans  # 1. Curvature
2< 2. Fluidity
#< 3. Musculature

25 4. Opacity

Question ID : 753229774

Q.15 Which of the following hormones promote cell division and are present in greater
concentration in areas of rapid cell division, such as in fruits and seeds?

Ans  # 1. Cytokinins
25 2. Ascorbic Acid
2 3. Gibberellins
< 4. Insulin

Question ID : 753229779




Q.16 Consider the following features of a particular gas -
1. It is a reddish-brown gas with pungent smell.
2. It indirectly causes acid-rain.

Which of the following gases is being talked about?
Ans X 1.CFC

X 2.50,
o 3.NO,
X 4.505

Question ID : 753229785

Q.17 Which of the following is/are key concepts of Darwinian Theory of Evolution?
1. Branching descent
2. Natural selection
Choose the correct code—

Ans X 1.0nly1
#< 2. Neither 1 nor 2

#< 3.0nly 2
" 4.Both 1and 2

Question ID : 753229780

Q.18 F=fafE@a # d &9 & sRaR 15 fafeas af gdf urg 71y sz e1fdres ara-wa= &2

KaaarisiRag?2

Question ID : 753229782

Q.19 &S L SR THE & U J Gl g SHIAIAE T IUANT 4 dR IR fohd 3520 & g a=a &7
Ans o 1. 3ch had & oh [l

< 2. urht & i geprr Gedtwor & forg

2< 3. ofie & ureq & fag

X 4 HE

Question ID : 753229788

Q.20
Ans  # 1. Sclerenchymatous

tissue is composed of dead cells.

#< 2. Collenchymatous
#< 3. Parenchymatous

25 4. Aerenchymatous

Question ID : 753229769




Section : Discipline5

Q.1 Which of the following is termed “The True Friends of the farmers’ or ‘The Natural
ploughers’?

Ans

«” 1. Earthworms
< 2.Bees

#< 3.Bulls

Z5 4. Rabbits

Question ID : 753229794

Q.2 The credit for Green Revolution in India goes to-

Ans

#< 1.Dr. P A Sanchez

25 2. Dr. Verghese Kurien
#< 3.Dr. RS Paroda

" 4.Dr. M. S. Swaminathan

Question ID : 753229793

Q.3 What is the density of water at 4°C?

Ans

X 1.49/md
o 2. 1g/m®
X 3.2g9/m°
X 4.3g/m°

Question ID : 753229797

Q.4 Apis cerana indica is a type of

Ans

25 1. Hen
< 2. Horse

" 3. Bee
&5 4. Cow

Question ID : 753229798

Q.5 Which of the following is considered to be the purest form of natural water (distilled water)

Ans

free from impurities?
#< 1. River water

25 2. Well water
«" 3. Rain water

< 4. Spring water

Question ID : 753229796




Q.6 What are the hens called which are reared for eggs?
Ans ¥ 1. Layers

#< 2. Broilers
25 3. Brailers

< 4. Eggers

Question ID : 753229795

Q.7 fFA=fafaa d @ wi gl & g g gga v 82
Ans o 1. TR

X 2. FR
X 3w
X 4 s

Question ID : 753229790

Q.8 Xanthium and Cyperinus rotundus are examples of -
Ans X 1. Crop-eating birds

25 2. Crop-damaging insects
o 3. Weeds

< 4. Nitrogen fixing micro-organisms

Question ID : 753229791

Q.9 The levels of which vitamins are kept high in the poultry feeds?
Ans X 1.Vitamins C and D

" 2. Vitamins A and K
25 3. Vitamins A and B
2 4. Vitamins E and K

Question ID : 753229792

Q.10 8 o« Iures & urR &Y uishar # vges nfafafdai &t e uaza aof & aier 98 s dehar 82
Ans X 1. T GRET TS

o 2. O S&dT H gUR

< 3. ®ud & e § gur

25 4. hEA-3TG JaeT

Question ID : 753229789

Section : Teaching Methodology




Q.1 What is the full-form of TLM for teachers?
Ans X 1. Teacher Language Mechanism

#5 2. Training and Learning Method
«# 3. Teaching Learning Materials
25 4. Teaching Learning Mechanism

Question ID : 753229802

Q.2 In which year was the 10+2+3 pattern of education introduced in India?
Ans X 1.1973

o 2.1975
X 3.1972
X 4.1974

Question ID : 753229804

Q.3 Who is of the view “There is no such thing as a philosophy-free science, there is only
science whose philosophical baggage is taken on border without examination”?

Ans  # 1. Daniel Dennett
25 2. David Chalmers
25 3. Richard Dawkins
2< 4. Sam Harris

Question ID : 753229806

Q.4 Which of the following chapters of the Right to Education Act, 2009 provides for the
responsibilities of schools and teachers?

Ans X 1.1I
X 2.0
X 3.V
o 41V

Question ID : 753229801

Q.5 Which age range is associated with later childhood?
Ans o 1.6-12years

25 2.12-18 years
< 3.10-15 years
25 4.5-10 years

Question ID : 753229807




Q.6 According to the 2011 Census what is the sex-ratio in our country?
Ans X 1.935

o 2.940

X 3.951
% 4.929

Question ID : 753229808

Q.7 Which out of the following statements is incorrect?
Ans  * 1. Joseph Priestley [ 1733] is known for his discovery of Liquid Nitrogen

< 2. Henry Cavendish[1731] discovered Hydrogen
2% 3. Robert Hook [1636] discovered Microscope

25 4. Antony Van Leeuwenhoek [1632] discovered Microorganisms

Question ID : 753229803

Q.8 How many dimensions of science education was identified in the ‘Science Education for
First Ten Years of Schooling - Guidelines for Upper Primary and Secondary Classes’?

Ans X 1.5
X 26
3.7
X 4.8

Question ID : 753229805

Q.9 Which of the following is not a characteristic of learning process?

Ans & 1. Learning is non-transferable.

#< 2. Learning is the outcome of the interaction of the individual with the environment
< 3. Learning is individualistic.

#< 4. Learning is intentional.

Question ID : 753229800

Q.10 F=fafEa # 9 fra fAeror wwrifa & o @i RNeren & anfeef grr wwfda qwi fif @is w=F
T A UG hel/heet 82
Ans X 1. yesfF fYy (SHigem Aue)
2 2. =af fafYy (fewemam Avs)
< 3. e AfY (FeR Rus)
o 4 @fde Y (RgRfees dus)

Question ID : 753229799




